EARAROBEEIERT — 2 N— IBISH —F

201658150 (H) 2E*ER8H

Il s>%3% 5005F (BA)

(451E) B

‘ [R1%] & ‘ [RERBE] — | Z (&) 14000 B

[AE4£] 1% :7,200,000 @ ~ 23 :2,900,000H ~ 33&:

1,800,000 H . 4 & :1,100,000 H 5 & :720,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
NN AEEE :20. - . . BRI (i)
i 5| RE—F TRy 3 e 1(2_0)8 5-5 33.8]92.2 | 1 (??g) R R 2
L AATATv— B:4—-70-X HE77—»4L
P ) = 4 3 | C. bx—Jb 1:20.8 7-7 33.6| 92.3 | 2 472 | BAR (EH)
o3 EF/712h [B] 56.0 (56) o | ETEAF=LF T2 0%
L:7A7% B:NhvE-FrsLr¥ EERNEZ e ]
. . i 1. _ . , FEAL (EH)
3|1]1]e7L>5 1770 N e e | o
LixrveH/EeE BiAyh—TLLF BRAIS
Key— 43 | JEAH 1:21.0 7-7 33.9| 90.0 | 3 | 484 |fFEEI= (RH) o
4112 56.0 (74%) (6) | W) AFYIR—NT (2T
R:aAFSw ML Bz U—NLEYT it
NS N FlBEX 21, = . . ZHEET (ER)
507]14 FrLEY =1y % 3 o 1(1/12)1 5-5 34.1| 88.8 | 4 zzgt 1E#BHT
Z:va7% BEXV K= VA N
S 4 3 | EEEH 1:21.5 2-2 34.8| 83.3 | 11 470 | SIESCHE ()
61713 TEVI=Y v 54.0 2 1/2) (o) | PR
L:FLI /PR BwYyINRIC T Ty da TATHS
L7 — o3 | EHEE 1:21.5 9-9 34.2| 84.4 | 7 420 | FEEE (FH)
M - FEEEr A 5.0 (565 Gy | EHES
LNn—E>Vv— BEVY-HXb HET7— L
85 a5 4 3 | BEES 1:21.9 12-14 34.1| 80.1 | 14 470 | BIER (EH)
8 4 A—LILS vy 5%.0 (2 1/2) ) (#%) O—LiL—>9
LI INATA—H— BTIIHHH— TI3XTT— L
= 5 3 | HEUOH(E 1:21.9 1-1 35.3| 78.7 | 9 490 | AKEHL (i)
oMl 7| FZXHNLTLA 6.0 (7 6) o | P
RivayFrhrs BRXv—F4aAV—> BHAXZY K
S # 3 | ANBIEA 1:22.0 12-11 34.5| 79.1 | 10 | 478 |HR#E (Ei#)
10{8|16| TAX7 71 + [BI #55.0 (7% way | B 1 AxH08
Rigr—3UTL BHLF-—TLEC R 1 Z XI5
LTS5 # 3 | M. FA-A 1:22.2 15-14 [ 34.4| 76.9 | 6 484 | BRI (i)
11 8 FANTZ97 56.0 1 1/2) (42) () AL —2K—X
R:A—I> 51U B:RAFLAERAT HET7—L
- 4 3 | RLRK®E 1:22.3 16-16 [ 34.3| 75.8 | 13 | 476 |&EEE (Eifl)
12|8[15| 7T —=—"T 1 ¥~ 540 (172 o |EME0Y
ey )&dyk B:PN/abMT INEHIS
o 3 | 1% 1:22.6 9-9 3 72. 1 426 | WUEHE (t7)
13510/ B¥ 1 ILF 2R % 54.0 (1 3/4) R <+26) R
LixiAn/O— BRI XH mE BE
> ¢ # 3 | EEAA 1:22.7 3-3 35.9| 71.1 | 8 450 | EEREZ ()
EEQ SR 6.0 (3/4) Wy | B ¥STLuEs5T 5707
g/ v T BIAXETITYN EvJLy RIT7—L
s i 3 | ERE— 1:23.3 1-11 35.8| 64.9 | 16 | 434 |fREEAL (E#)
15|59 | =377 54.0 (31/2) (cay | ) INTr—L
Rixq4avR—-5— B:NKTL IWT =L
$ 4 3 | LHES 1:23.6 12-11 36.1| 62.3 | 12 422 | RIIEE (%)
EH 6 a~v ./ R —L4 54.0 (1 3/4) a) EAIEBE
R:Z2Gr T hA—J7—K—FK B:av/F37 EialllkA Rk
@ 71 L
) 46.0-34.2
NA>Z2A4 L | 12.4-11.1-11.3-11.8-11.3-11.3-11.6
® I —F—@EBIERL
1T=7r=
2= =
Gol=5r= 7,13(1,12) (5,14) (2,3) (10,11)9(4,6,16)-8,15
43—+ — (x7,13) (1,12) (5,14) (2,3) (10,11) (9,6,16) (4,8)15
[ N3
BB 5 260M 714K 3-5 250M e E 2-3 490M JEHE 1-3-5 1,360M
8 B 5 130M4 1-5 450M B = Bpd 490M B Haaml 4,630
3 140/ 1-3 550 B H 5-3 1,060M
1 1804

ABICOVWTRDTEEERROODE. TR LIV,




